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summary lecture 2

thermal equilibrium

Ot Law of Thermodynamics
temperature

Kinetic and potential energy
work
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recap: “volume-work”

F A =
f\/ pressure P =ﬂ
AT ASSSSAS, A
|2 work AW =[Feds=[pAdz=[pd(Az2)=]pdVv
V2
= work through volume change AW, ., = J‘ pdV
Vl
« W=>0 work is done by the system
« W<O work is done g1 the system
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two cases of adiabatic expansions

case 1 (reversible)

» weights taken off the cylinder one at a time

e slow expansion
e work is done by lifting weights

pressure is spatially uniform in system
= no gradients of intensive properties
= quasi-equilibrium process

= reversible process

= most efficient process

case 2 (irreversible)

e weights are taken off at once

e fast, spontaneous expansion

e no work is done (by lifting weights)
_T_ idealized cylinder of zero

mass
(will move fast, order of
SSSSSSS

----------------- magnitude of speed of
D (Z) sound)
..... . V[

fast process leads to a pressure-profile p(z,t)
during expansion

— gradient van p(z,t) not zero
= irreversible process
= inefficient



reversible and irreversible volume-work

Vv, .
= (from previous slide we conclude) AW with A,,W =fv pdV is dependent on
the process path; it depends on Aow we change the volume V. We say it is a

process quantity, not a state property

V2
— AW = jvl pdvV = W, -W,

— the differential W = pdV is then called an inexact differential (with operator o)
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Internal energy U

consider adiabatic process (neglect differences in KE and PE)

7 T p2
¢ %: 0 ! -~ |

o

________ P .
System boundary 7

work . 44 T Work .., = independent of process

U2 _Ul — _Wtotal
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Presenter
Presentation Notes
Experimenteel bepaald door Joule.

Zuiger geeft reversibel proces weer; roerder geeft irreversibel proces weer. Beschrijf alternatief voor roerder, bijv. electrische arbeid.



Bij een gesloten adiabatisch systeem is de door het systeem op de omgeving verrischte arbeid gelijk aan de afname van inwendige energie



We kunnen het verschil in inwendige energie van twee toestanden van een massa materie in principe dus bepalen door op deze massa als gesloten adiabatisch systeem arbeid te verrichten en de hoeveelheid arbeid te meten die nodig is om het systeem van de ene in de andere toestand te brengen.



De inwendige energie is hiermee dus gedefinieerd via het bekende begrip: mechanische arbeid.



Alleen verschillen in inwendige energie zijn interessant. We kunnen dus een willekeurige referentiewaarde kiezen.



Hetzelfde treedt op bij het begrip potentiele energie in de mechanica.




neat

consider non-adiabatic process (neglect differences in KE and PE)

system boundary

ﬂ///// /_/ A A A A
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Presenter
Presentation Notes
Q > 0	warmte wordt aan het systeem toegevoegd�Q < 0	warmte wordt aan de omgeving afgegeven

Dit is dus net andersom als voor W; dat is inconsequent, maar logisch in technische toepassingen waar warmte in arbeid wordt omgezte. 



Door deze uitdrukking krijgen we voor het eerst vat op het begrip warmte



Net als W hangt Q af van het proces; Q is dus geen toestandsvariabele!



Het onderscheid tussen warmte en arbeid is alleen van belang bij doorschrijding van de grens van het systeem. Binnen het systeem kennen we alleen maar inwendige energie.



De inwendige energie is op moleculaire schaal terug te vinden als kinetische en potentiele energie van de moleculen




energy transfer by heat

« energy transfer of heat is due to a temperature-difference (temp.-gradient)
« the energy transfer is in the direction of decreasing temperature

N\

=
wind — < R Qver Ies
—
M
— |
‘ TQverwarm

energy transfer by heat conduction follows the Fourier's law Q = —xA—

Qverlies
_’ I
T4 < inside
/‘ air
. isolation layer, x;
outside ,/ _ A
Tair | T— wall (brick), x, with x,>x;

Z

: dT
dz
heat-conductivity coefficient x z
(warmtegeleidingscoéfficiént) surface area

t, .
an energy-package of heat is defined as A,Q = L Qdt

A,Q depends on the process path, it is a process quantity (no state property)
S5Q =Qdt is an inexact differential



1st Law of Thermodynamics

Each closed system has a property U, the internal energy, for which:
« (neglect differences in KE and PE)

« the change in U for an adiabatic process is equal to the work W by the system:;
« the added heat Q for a non-adiabatic process is given by

U,-U =Q-W

« heat & work are process quantities; internal energy U is a state quantity

« Q=0 heat is transferred Zo the system

« Q<O heat is transferred frorm the system
« W=>0 work is done by the system

« W<O work is done g the system
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remarks

« the first law cannot be proven;
« the internal energy is an extensive property;
« the first law represents conservation of energy in a system;

 for a quasi-static process: dU =6Q — oW

« dlitto for a gas: dU =6Q — pdV
 djtto per unit of mass: du =96q - pdv
« per unit of time: U=0Q-W
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energy balance

*First law
E,-E =Q-W
For the energy difference we can write

E, - E, =(U, -U,)+(KE, —KE,) + (PE, - PE,)

*Usually (but not always), differences in KE and PE can be neglected so we end up with

Q=U,-U +W
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example
system boundary

Wpaddle

W aqate = —18.5kJ process 1=>2  with: u; =2709.9 kl/kg
Q=+80 kJ u, = 2659.6 kl/kg

9 m(UZ - ul) = Q _Wpaddle _Wpiston
piston © | 5(2659.6-2709.9)=80-~18.5-W,
W =350k

p
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Presenter
Presentation Notes
Assymptions:

 the steam is a closed system

 there is no change in the kinetic or potential energy of the steam



Analysis:

KE + PE + U = Q – W	 U = Q – W

m ( u2 – u1) = Q – W

W = Wpw + Wpiston

m ( u2 – u1) = Q – ( Wpw + Wpiston)

Wpiston = Q – Wpw – m ( u2 – u1) 

Wpiston 	= (+80 kJ) – (–18.5 kJ) – (5 kg)(2659.6 – 2709.9) kJ/kg

	= (+80 kJ) – (–18.5 kJ) – (–251.5 kJ)

	= +350 kJ




cycles
Vv, Vi
P W, = j pdV W, = j pdV
\A vy

W

cycle

=W, +W,, = § pdV = enclosed area

First Law: AU =Q_ . —W,_,;

cycle

CYCIG: AU =0 = Qcycle :chcle
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Presenter
Presentation Notes
Het geschetste proces levert dus arbeid ten koste van warmte: motor, turbine



Hiermee is ook de mogelijkheid van een z.g. perpetuum mobile van de eerste soort (een machine die arbeid uit niets levert) verworpen. De onmogelijkheid is niet bewezen, maar berust op aanvaarding van de eerste hoofdwet. 


power cycle

thermal efficiency:

bl 77 chcle
l ............. Qu
| system “ chcle = Qin — Qout Qout
- Qi Qout = Q =1 Q
cold out
et 2" Law: Q,, >0=17<I
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refrigeration & heat pump cycle

coefficients of performance:

* refrigeration cycle

_Q,
ﬁ_w

cycle

 heat pump cycle

Qout
W

cycle

7/:
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engine

the 2-stroke Otto cycle

s Py 3
2 4
I I I I 1 bar - 1 2
I y 3 4 '
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Presenter
Presentation Notes
Tweetaktmotor

Stand 1: cylinder gevuld met benzine-luchtmengsel

1-2: zuiger comprimeert het gasmengsel adiabatisch

2-3: ontsteking

3-4: het verbrandingsgas expandeert adiabatisch

4-1: zuiger geeft uitlaatopening vrij, inlaatklep opent, verbrandingsgas wordt vervangen door nieuw benzine-luchtmengsel



Voor een eenvoudige berekening kunnen we veronderstellen dat zich in de cylinder steeds hetzelfde gas bevindt, waarbij we dan de warmtetoevoer door verbranding van het gas en de warmte-afvoer door uitstromen van het verbrandingsgas vervangen door toe- en afvoer van warmte door de wand. Het kringproces wordt weer, zoals steeds het geval was, reversibel verondersteld.


gas turbine cycle

the Joule cycle

4 1
> cooler > P Qa3
P24 23
compressor
turbine H D
generator ‘ pl 7 1 4
‘ A Qu
~ heater ~
3 2 V
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exercise

A gas undergoes a thermodynamic cycle consisting of the

following processes:

Process 1-2: constant pressure, p = 1.4 bars, V, = 0.028 m?,
W,,=10.5kJ

Process 2-3: compression with pV = constant, U; = U,

Process 3-1: constant volume, U, —U;=-26.4 kJ

There are no significant changes in kinetic or potential energy.

a) Sketch the cycle on a p-V diagram.

b) Calculate the net work for the cycle, in kJ (-8.3kJ).
c) Calculate the heat transfer for process 1-2, in kJ (Q=36.9kJ)
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directions for home study

« Ch.1 & 2 (except §2.4.2) have been treated; read this thoroughly!

« Especially study §82.5 & 82.6 (including all examples, in particular 2.3 &
2.4).

« Do problems 2.15 & 2.16. Do one of the problems on work (2.17-
2.25); one of the problems on the energy balance of closed systems
(2.30-2.40); do problems 2.41 & 2.42; do one of the problems on
cycles (2.43-2.51)
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